Item	Mfg	Part Number	Part Description	Qty		Sell	E	xt Sell
item		3725	TRADITIONAL, Armchair, High Back, Queen Anne Style, Closed Rolled Arms, Std Wood	4	\$	627.58	\$	2,510.32
	GLB	3723	Capped Base, Std 2" Dual Wheel Carpet Casters, GLOBAL SEATING USA					
		~07	Grade 07					
		~LTRB/MOCK	Leather/Mock Leather					
		~LIKB/WOOK	Skipped Option					
			F-Shaker Cherry, Wood Frame [SKM]					
	015	SK	TRADITIONAL, Armchair w/ Casters, Banker's Style, Open Arm Style, Std 4 Legged Base,	12	\$	347.20	\$	4,166.40
	GLB	3722C	Std 2" Dual Wheel Carpet Casters, GLOBAL SEATING USA	-				
		~07	Grade 07					
		~LTRB/MOCK	Leather/Mock Leather					
			Skipped Option					
		SK	F-Shaker Cherry, Wood Frame [SKM]					
15		~	C-(STD) Black, 2" Dual-Wheel Caster [C1]	24	•	602.20	•	16,614.96
	GLB	3746-JB2TM	TRADITIONAL, Medium Back, Tilter, Martha Washington Style, Open Arm Style, Jury Base,	24	\$	692.29	Ф	10,014.90
			GLOBAL SEATING USA					
		~07	Grade 07				1	
			Skipped Option				1	
		SK	F-Shaker Cherry, Wood Capped Base [SKM]					
		~	C-(STD) Black, 2" Dual-Wheel Caster [C1]				i	
	<b>b</b>	~	(STD) Standard Chair Back Design				<u></u>	
- 100	GLB	3730	TRADITIONAL, High Back, Tilter, Martha Washington Style, Open Arm Style, Std Wood	28	\$	597.56	\$	16,731.6
	OLD	0.00	Capped Base, Std 2" Dual Wheel Carpet Casters, GLOBAL SEATING USA					
	1	~07	Grade 07					
	1	~LTRB/MOCK	Leather/Mock Leather					
			Skipped Option					
		SK	F-Shaker Cherry, Wood Capped Base [SKM]					
		SN	C-(STD) Black, 2" Dual-Wheel Caster [C1]				1	
	8	~	TRADITIONAL, Medium Back, Tilter, Martha Washington Style, Open Arm Style, Std Wood	6	\$	564.15	\$	3,384.9
5	GLB	3746	Capped Base, Std 2" Dual Wheel Carpet Casters, GLOBAL SEATING USA	_			1	-,
	1							
		~07	Grade 07				1	
		~LTRB/MOCK	Leather/Mock Leather				1	
			Skipped Option					
		SK	F-Shaker Cherry, Wood Capped Base [SKM]					
		C7	C-Black, Slipper Glide					
6	3	~	(STD) Standard Chair Back Design	ļ	<u> </u>		ļ	
6	GLB	5451-4	TRUFORM, Medium Back, Tilter, Std Adj. Height T-arms, Vari-Width Arm Extensions are Std	1	\$	232.60	\$	232.6
7.00			, Std Molded Black Base, Std 2" Dual Wheel Carpet Casters, Ships Partially KD, GLOBAL				1	
		~03	Grade 03					
		~QULT	Quilt					
		QL10	1-Black					
		SC	A-(STD) Height Adj., Forward Swept Arms, Kidney Shaped Armcap		į			
		BK	F-(STD) Black Frame [BLK]	2				
		-	(STD) Molded Black Base [BLK]					
	1		(STD) 4" Soft Descent Cylinder					
			C-(STD) Black, 2" Dual-Wheel Caster [C1]					
		~	(STD)					
		~	(STD) RTA Code in Pricebook per Model					
	<u> </u>	~	TRUFORM, Medium Back, Tilter, Std Adj. Height T-arms, Vari-Width Arm Extensions are Std	1	\$	232.60	5	232.6
7	GLB	5451-4	, Std Molded Black Base, Std 2" Dual Wheel Carpet Casters, Ships Partially KD, GLOBAL	1 1		202.00	1	202.0
		~03	Grade 03		1			
		~QULT	Quilt		1			
	1	QL10	1-Black		1			
		SC	A-(STD) Height Adj., Forward Swept Arms, Kidney Shaped Armcap					
		BK	F-(STD) Black Frame [BLK]	1				
		~	(STD) Molded Black Base [BLK]				ì	
		~	(STD) 4" Soft Descent Cylinder					
	1	~	C-(STD) Black, 2" Dual-Wheel Caster [C1]		1			
		~	(STD)					
		~	(STD) RTA Code in Pricebook per Model		1			
8	GLB	5451-4	TRUFORM Medium Back, Tilter, Std Adi, Height T-arms, Vari-Width Arm Extensions are Sto	1 1	\$	232.60	) 9	232.6
0	GLB	J-101-4	, Std Molded Black Base, Std 2" Dual Wheel Carpet Casters, Ships Partially KD, GLOBAL		1			
	1	~03	Grade 03	1				
		~03	Quilt					
		~QULT						
		QL10	1-Black A-(STD) Height Adj., Forward Swept Arms, Kidney Shaped Armcap				-	
		SC					1	
		BK	F-(STD) Black Frame [BLK]		-			
		~	(STD) Molded Black Base [BLK]		-			
		1	(STD) 4" Soft Descent Cylinder		1			
		1						
		~	C-(STD) Black, 2" Dual-Wheel Caster [C1]	1	1			
		~	C-(STD) Black, 2" Dual-Wheel Caster [C1] (STD)					

Item	Mfg	Part Number	Part Description	Qty		ell	Ext Se	-
)	GLB	5451-4	TRUFORM, Medium Back, Tilter, Std Adj. Height T-arms, Vari-Width Arm Extensions are Std , Std Molded Black Base, Std 2" Dual Wheel Carpet Casters, Ships Partially KD, GLOBAL	1	\$	232.60	\$ 23	2.60
		~03	Grade 03					
	1	~QULT	Quilt 1-Black					
	1	QL10	A-(STD) Height Adj., Forward Swept Arms, Kidney Shaped Armcap					
		SC BK	F-(STD) Black Frame [BLK]					
	1	~	(STD) Molded Black Base [BLK]					
	1	~	(STD) 4" Soft Descent Cylinder					
		~	C-(STD) Black, 2" Dual-Wheel Caster [C1]					
		~	(STD)					
v	/	~	(STD) RTA Code in Pricebook per Model					
0	GLB	5451-4	TRUFORM, Medium Back, Tilter, Std Adj. Height T-arms, Vari-Width Arm Extensions are Std , Std Molded Black Base, Std 2" Dual Wheel Carpet Casters, Ships Partially KD, GLOBAL	12	\$	232.60	\$ 2,79	1.20
		~03	Grade 03					
		~QULT	Quilt					
		QL10	1-Black A-(STD) Height Adj., Forward Swept Arms, Kidney Shaped Armcap					
		SC	F-(STD) Black Frame [BLK]					
		BK	(STD) Molded Black Base [BLK]					
		~	(STD) 4" Soft Descent Cylinder					
		~	C-(STD) Black, 2" Dual-Wheel Caster [C1]					
		2	(STD)					
986		1~	(STD) RTA Code in Pricebook per Model					
4	GLB	5451-4	TRUFORM Medium Back, Tilter, Std Adi, Height T-arms, Vari-Width Arm Extensions are Std	1	\$	232.60	\$ 23	2.60
1	GLB	5451-4	Std Molded Black Base, Std 2" Dual Wheel Carpet Casters, Ships Partially KD, GLOBAL					
		~03	Grade 03		-			
		~COM3	Com Gr3					
		COM3	1-COM Grade 03		1			
		TOR						
		SC	A-(STD) Height Adj., Forward Swept Arms, Kidney Shaped Armcap					
		BK	F-(STD) Black Frame [BLK]					
		~	(STD) Molded Black Base [BLK]					
		~	(STD) 4" Soft Descent Cylinder					
		~	C-(STD) Black, 2" Dual-Wheel Caster [C1]					
	1	~	(STD)					
	1	~	(STD) RTA Code in Pricebook per Model		ļ			
sub			Global - Contract # VQ10295		ļ		\$ 47,36	
12	NOF	NAC0613ST	ACCESSORIES,6DX13W,BOX DRWR CONVENIENCE TRAY,BLACK	1	\$	9.32	\$	9.32
	1		CASEGOODS,LOCK CORE & KEY,BLACK,NO 001	3	\$	5.67	\$ 1	7.01
13	NOF	NCCB001	CASEGOODS, LOCK CORE & RE1, BLACK, NO 001	J	Ψ	0.07	Ψ '	7.0
14	NOF	NAC0613ST	ACCESSORIES,6DX13W,BOX DRWR CONVENIENCE TRAY,BLACK	1	\$	9.32	\$	9.32
15	NOF	NCCB002	CASEGOODS,LOCK CORE & KEY,BLACK,NO 002	3	\$	5.67	\$ 1	17.01
16	NOF	NAC0613ST	ACCESSORIES,6DX13W,BOX DRWR CONVENIENCE TRAY,BLACK	1	\$	9.32	\$	9.32
17	NOF	NCCB003	CASEGOODS,LOCK CORE & KEY,BLACK,NO 003	3	\$	5.67	\$ 1	17.01
18	NOF	NAC0613ST	ACCESSORIES,6DX13W,BOX DRWR CONVENIENCE TRAY,BLACK	1	\$	9.32	\$	9.32
19	NOF	NCCB004	CASEGOODS,LOCK CORE & KEY,BLACK,NO 004	3	\$	5.67	\$ 1	17.0
20	NOF	NCCB005	CASEGOODS,LOCK CORE & KEY,BLACK,NO 005	5	\$	5.67	\$ 2	28.3
21	NOF	NCCB006	CASEGOODS,LOCK CORE & KEY,BLACK,NO 006	5	\$	5.67	\$ 2	28.3
22	NOF	NAC0613ST	ACCESSORIES,6DX13W,BOX DRWR CONVENIENCE TRAY,BLACK	1	\$	9.32	\$	9.3
23	NOF	NCCB007	CASEGOODS,LOCK CORE & KEY,BLACK,NO 007	3	\$	5.67	\$	17.0
24	NOF	N80BB	RESULT, MID-BACK, SWIVEL TILT	28	\$	247.05	\$ 6,9	17.4
25	NOI	N80BB	RESULT,MID-BACK,SWIVEL TILT	4	\$	247.05	\$ 98	88.2
26	NOI	N80BB	RESULT,MID-BACK,SWIVEL TILT	6	\$	247.05	\$ 1,48	32.30
27	√ NOI		RESULT,MID-BACK,SWIVEL TILT	16	\$	247.05	\$ 3,9	52.8
28	NO		ARROWOOD, 15DX63W, TRANSACTION COUNTER, DESK, LAM/WOOD	1	\$	250.29	\$ 2	50.2
20		DW	JUDICIAL					
29	NO		ARROWOOD, 15DX63W, TRANSACTION COUNTER, DESK, LAM/WOOD	1	\$	250.29	\$ 2	50.2
							T. C.	
I	1	DW	JUDICIAL					

14	Mfq	Part Number	Part Description	Qty	Sell	Ext Sell
ltem )		31N2445BEFLW	ARROWOOD,24DX45W,BRIDGE,LAM/WOOD	1	\$ 162.41	\$ 162.41
	110	OTIVE FIEDER ETT				
		G13C	GROMMET,CENTER			
٧	4	DW	JUDICIAL JUDICIAL CONTROL DA CICO PROADUZED LAM TOP	1	\$ 756.95	\$ 756.95
	NOF	31N6636HBHW	ARROWOOD,66WX36H,HIGHBACK ORGANIZER,LAM TOP	1.	Ψ 730.33	φ /30.50
		KS1B	SPECIFY 1 BLACK CORE SEPARATE			
		DW	JUDICIAL			
. 4	NOF	NAC6017TBR	ACCESSORIES,60 9/16WX16 15/16H,TACKBOARD	1	\$ 146.61	\$ 146.61
	11.01	10.000111				
		Α	GRADE A			
	/	3721	REPETITION REED	1	\$ 756.95	\$ 756.95
3	NOF	31N6636HBHW	ARROWOOD,66WX36H,HIGHBACK ORGANIZER,LAM TOP	'	Ψ /00.00	Ψ /00.00
		KS1B	SPECIFY 1 BLACK CORE SEPARATE			
	/	DW	JUDICIAL			
-	NOF	NAC6017TBR	ACCESSORIES,60 9/16WX16 15/16H,TACKBOARD	1	\$ 146.61	\$ 146.6
				E-		
		Α	GRADE A			
	<b>/</b>	3721	REPETITION REED ARROWOOD,24DX45W,BRIDGE,LAM/WOOD	1	\$ 162.41	\$ 162.4
5	NOF	31N2445BEFLW	ARROWOOD,24DA4599,BRIDGE,LAW/99OOD		Ψ 102.11	V 102.4
		G13C	GROMMET,CENTER			
	1	DW	JUDICIAL			
3	NOF	31N6636HBHW	ARROWOOD,66WX36H,HIGHBACK ORGANIZER,LAM TOP	1	\$ 756.95	\$ 756.9
	1					
		KS1B	SPECIFY 1 BLACK CORE SEPARATE			
	4	DW	JUDICIAL TACKBOARD	1	\$ 146.61	\$ 146.6
7	NOF	NAC6017TBR	ACCESSORIES,60 9/16WX16 15/16H,TACKBOARD	'	Ψ 140.01	φ 140.0
		Α	GRADE A			
	1	3721	REPETITION REED			
8	NOF	31N7236HBHW	ARROWOOD,72WX36H,HIGHBACK ORGANIZER,LAM TOP	1	\$ 781.25	\$ 781.2
•						
	1	KS1B	SPECIFY 1 BLACK CORE SEPARATE			
	1	DW	JUDICIAL TACKPOARD BALL BOAR	1	\$ 165.65	\$ 165.6
9	NOF	NAC6617TBRA	ACCESSORIES,66 9/16WX16 15/16H,TACKBOARD,RAILROAD	1	Φ 105.05	\$ 105.0
	1		GRADE A			
		A 3721	REPETITION REED			
0	NOF		UNIVERSAL,18WX28H,PANEL BASE,WOOD	4	\$ 529.34	\$ 2,117.30
•	1,,0.					
	1	P1	BASIC			
	1	DW	JUDICIAL ARROWOOD,24DX45W,BRIDGE,LAM/WOOD	1	\$ 162.41	\$ 162.4
11	NOF	31N2445BEFLW	ARROWOOD,24DA45VV,BRIDGE,LAW/VVOOD		Ψ 102.41	Ψ 102.4
		G13C	GROMMET,CENTER			
	1	DW	JUDICIAL			
12	NOF	31N6636HBHW	ARROWOOD,66WX36H,HIGHBACK ORGANIZER,LAM TOP	1	\$ 756.95	\$ 756.9
			ODEOGRA A DI ACIA CODE CEDADATE	1		
		KS1B	SPECIFY 1 BLACK CORE SEPARATE JUDICIAL			
	√ 	DW NACCO17TED	ACCESSORIES,60 9/16WX16 15/16H,TACKBOARD	1	\$ 146.61	\$ 146.6
43	NOF	NAC6017TBR	ACCESSORIEG, SO STOWN TO TOT TOTAL, MICHESONIES			
		Α	GRADE A			
	1	3721	REPETITION REED		ļ	
44	NO	10N1828PNL	UNIVERSAL,18WX28H,PANEL BASE,LAMINATE	8	\$ 356.81	\$ 2,854.4
	1,537,532		2.00			
		P1	BASIC			
	110	DW	JUDICIAL UNIVERSAL,18WX28H,PANEL BASE,LAMINATE	2	\$ 356.81	\$ 713.6
45	NO	10N1828PNL	ONIVERSAL, 1044/2011, PANCE BAGE, EARINIVATE	-		
		P1	BASIC			
		DW	JUDICIAL		İ	
46	NO	10N1828PNL	UNIVERSAL,18WX28H,PANEL BASE,LAMINATE	4	\$ 356.81	\$ 1,427.2
	-					
		P1	BASIC JUDICIAL			
	V	DW	UNIVERSAL,18WX28H,PANEL BASE,LAMINATE	8	\$ 356.81	\$ 2,854.4
47	NO	F 10N1828PNL	QUIVELONE, 1044V50111 VITEE DAOC, ENBITANTE		333.01	-,,,,,,,
		P1	BASIC			
	1	DW	JUDICIAL			l
48	NO	The state of the s	ARROWOOD,30DX66W,DESK,RIGHT,FULL PED,LAM/WOOD	1	\$ 809.19	\$ 809.1
,,,	"					
		X	NO GROMMET			
	ĺ	KS1B	SPECIFY 1 BLACK CORE SEPARATE			
1		DW	JUDICIAL			T.

Item	Mfg	Part Number	Part Description	Qty	**********	ell		Sell
9	NOF	31N2166CLFFLW2	ARROWOOD,21DX66W,CREDENZA,LEFT,FULL PED,FREESTNDG,FF,LAM/WD	1	\$	670.68	\$	670.68
_								
			NO GROMMET					
			SPECIFY 1 BLACK CORE SEPARATE					
	1	DW	JUDICIAL TIMBERLANE,GUEST,WOOD ARMS,FULL UPHOLSTERED BACK	2	\$	307.80	\$	615.60
0	NOF	39U-GWXX	TIMBERLANE, GOEST, WOOD ARMS, FOLE OFFICES TENED BACK	1	Ψ.	007.00	Ψ	010.00
		3	GRADE 3					
	1	3	Skipped Option					
14		DW	JUDICIAL					
1	NOF	31N3066DLFLW1	ARROWOOD,30DX66W,DESK,LEFT,FULL PED,LAM/WOOD	1	\$	809.19	\$	809.19
	1							
		X	NO GROMMET					
	1	KS1B	SPECIFY 1 BLACK CORE SEPARATE					
4	4	DW	JUDICIAL DED SELAMANOOD	1	\$	575.91	\$	575.91
2	NOF	31N2444RREFLW2	ARROWOOD,24DX44W,RETURN,RIGHT,FULL PED,FF,LAM/WOOD	1 *	Φ	3/3.91	Φ	3/3.91
		0.00	GROMMET,CENTER					
		G13C	SPECIFY 1 BLACK CORE SEPARATE					
		KS1B DW	JUDICIAL					
53	NOF	39U-GWXX	TIMBERLANE,GUEST,WOOD ARMS,FULL UPHOLSTERED BACK	2	\$	307.80	\$	615.60
53	NOF	390-GVVA	TIMBERD WE, 0020 1, 11000 1 thing, 0000 1					
		3	GRADE 3					
			Skipped Option			į		
4	<b>a</b>	DW	JUDICIAL					
54	NOF	31N3066DLFLW1	ARROWOOD,30DX66W,DESK,LEFT,FULL PED,LAM/WOOD	1	\$	809.19	\$	809.19
			WA ARAMIET	l		1		
		X	NO GROMMET			1		
		KS1B	SPECIFY 1 BLACK CORE SEPARATE					
- 4	1	DW	JUDICIAL ARROWOOD,21DX66W,CREDENZA,RIGHT,FULL PED,FREESTNDG,FF,LAM/WD	1	\$	670.68	\$	670.68
55	NOF	31N2166CRFFLW2	ARROWOOD, 21D ABBY, CREDENZA, RIGHT, FOLE FED, I RELOTING O, 11, EARLING			0,000	Ψ.	010.00
		V	NO GROMMET					
		X KS1B	SPECIFY 1 BLACK CORE SEPARATE					
	/	DW	JUDICIAL					
56	NOF	39U-GWXX	TIMBERLANE, GUEST, WOOD ARMS, FULL UPHOLSTERED BACK	2	\$	307.80	\$	615.60
50	1401	330-01777						
		3	GRADE 3					
		1	Skipped Option		1			
	ta .	DW	JUDICIAL					
57	NOF	31N3066DRFLW1	ARROWOOD,30DX66W,DESK,RIGHT,FULL PED,LAM/WOOD	1	\$	809.19	\$	809.19
					1			
		X	NO GROMMET	1				
		KS1B	SPECIFY 1 BLACK CORE SEPARATE JUDICIAL					
	V	DW 31N2444RLEFLW2	ARROWOOD,24DX44W,RETURN,LEFT,FULL PED,FF,LAM/WOOD	1	\$	575.91	\$	575.91
58	NOF	3 INZ444RLEFLVVZ	ARROWOOD, 24D A 444, RETORN, EEL 1,1 OLE 1 ES, 1 1,2 IIII. 11					
		G13C	GROMMET,CENTER					
		KS1B	SPECIFY 1 BLACK CORE SEPARATE					
	1	DW	JUDICIAL					
59	NOF	39U-GWXX	TIMBERLANE, GUEST, WOOD ARMS, FULL UPHOLSTERED BACK	2	\$	307.80	\$	615.60
	3	3	GRADE 3					
			Skipped Option					
	30	DW	JUDICIAL ARROWOOD,30DX66W,DESK,RIGHT,FULL PED,LAM/WOOD	1	\$	809.19	\$	809.19
60	NOF	31N3066DRFLW1	ARROWOOD, 30DX66W, DESK, RIGHT, FOLL PED, LANIMWOOD	1 '	Ψ	003.13	Ψ	003.13
		X	NO GROMMET					
1		KS1B	SPECIFY 1 BLACK CORE SEPARATE					
	1	DW	JUDICIAL					
61	NOF	THE RESERVE THE PERSON NAMED IN COLUMN TWO IS NOT THE OWNER.	ARROWOOD,21DX66W,CREDENZA,LEFT,FULL PED,FREESTNDG,FF,LAM/WD	1	\$	670.68	\$	670.68
0.	1101	011121000211211						
		X	NO GROMMET					
		KS1B	SPECIFY 1 BLACK CORE SEPARATE					
00000	1	DW	JUDICIAL		- 1	407.00		404.07
62	NOF	50N2172CBW	BARRINGTON,21DX72W,CREDENZA,BUFFET,WOOD	3	5 1	,497.29	\$ 4	,491.87
			CLASSIC.ANTIQUE BRASS					
		81AB	RANDOM CORE, INSTALLED, BLACK					
		KRB	STANDARD					
		R DW	JUDICIAL					
62	NOF		WAVEWORKS,30DX66W,SURFACE,RECTANGULAR,HPL	1	\$	222.35	\$	222.35
63	NO	VVVVIVOODVVOOL	14.14. Extension for the first form of the first					
		М	MAIN	8				
		VDW	SOFTENED PVC, JUDICIAL		1			
		X	NO GROMMET					
1		STD	STANDARD LAMINATE		İ			
		DW	JUDICIAL	91	1		1	

Item	Mfg	Part Number	Part Description	Qty	Sell	Ext Sell
4	NOF	WWN3072WSSLW	WAVEWORKS,30DX72W,SURFACE,RECTANGULAR,HPL/WOOD	2	\$ 363.69	\$ 727.38
,	1101	***************************************				
		М	MAIN			
		T	STEP	į.		
		X	NO GROMMET			
			STANDARD LAMINATE			
		STD	JUDICIAL	1		
		DW		1		
	1	DW	JUDICIAL TOORYTON DECK DOUBLE DEDESTAL MOOD	2	\$ 1,037.61	\$ 2,075,22
65	NOF	51N3672DDFW8	ROOSEVELT,36DX72W,DESK,DOUBLE PEDESTAL,WOOD		Φ 1,007.01	Ψ 2,075.22
		M	DECORATIVE MOLDING			
		82AB	SCROLL, ANTIQUE BRASS			
		G13LR	GROMMET,ROUND,LEFT & RIGHT			
		KS3B	SPECIFY 3 BLACK CORE SEPARATE			
	1	R	STANDARD			
	,	DW	JUDICIAL			
	THE PERSON	WWN48168RT2L	WAVEWORKS,48DX168W,CONFERENCE TOP,RECTANGLE,HPL	2	\$ 2,049.30	\$ 4,098.60
66	NOF	VVVVN46 100K 12L	VWAVEVOING, TO BATTOON, O CHI ETTE TO THE PART OF THE			
			DEED BYG HIDIGIAL		1	
		NDW	REED PVC,JUDICIAL			
		X	NO GROMMET	1		
	1	42	42			
	1	156	156			
		STD	STANDARD LAMINATE			
	/	DW	JUDICIAL			
67	NOF	WWN4284RT2L	WAVEWORKS,42DX84W,CONFERENCE TOP,RECTANGLE,HPL	1	\$ 785.30	\$ 785.30
67	NOF	VVVVIVAZOMICIZE				
		VDW	SOFTENED PVC, JUDICIAL	1		
			NO GROMMET			
		X				
		36	36			
		X	NO MODIFIED WIDTH (STANDARD)			
		STD	STANDARD LAMINATE			
19	1	DW	JUDICIAL			
68	NOF	WWN4896RT2L	WAVEWORKS,48DX96W,CONFERENCE TOP,RECTANGLE,HPL	2	\$ 940.82	\$ 1,881.64
00	INO	***************************************				
		VDW	SOFTENED PVC, JUDICIAL			
	1	2 1 C 2 C 2 C 2 C 2 C 2 C 2 C 2 C 2 C 2	NO GROMMET			
	1	X				
		36	36		1	
		X	NO MODIFIED WIDTH (STANDARD)			
1		STD	STANDARD LAMINATE			
100	1	DW	JUDICIAL		<del> </del>	
sub			National - TXMAS #11-71050		* 4000 70	\$ 52,999.75
69	NOF	NCG100372010	Special - BARRINGTON,34WX52H,BOOKCASE,OPEN,FREESTANDING - Ref#	6	\$ 1,208.70	\$ 7,252.20
00	1		50N3452BCOFW		1	
1	. 0	DW	JUDICIAL		1	į
70	NOF		Special - BARRINGTON, 14DX36W, CORNICE FRAME - Ref# 50N1436CPCFW	1	\$ 296.10	\$ 296.10
70	NOF	NCG 10037 2020	Special Difficulties of the second se			
		DIM	JUDICIAL	1		
	63	DW	Special - BARRINGTON,14DX35W,BASE - Ref# 50N1435CPBW	1	\$ 239.85	\$ 239.85
71	NOF	NCG100372030	Special - BARKING TON, 14DX35W, BASE - Rei# 30M 14330F BW	1.	Ψ 200,00	200.00
			0.000	1		
	8	DW	JUDICIAL JUDICIAL		6 1510.00	¢ 2005.00
72	NOF	NCG100372040	Special - ROOSEVELT,21DX72W,CREDENZA,KNEESPACE,WOOD - Ref#	2	a 1,512.90	\$ 3,025.80
			51N2172CKFLW2			
		82AB	SCROLL, ANTIQUE BRASS			
		G13C	GROMMET.CENTER			
1		KS2B	SPECIFY 2 BLACK CORE SEPARATE	į.		
		R	STANDARD	1		
			JUDICIAL	1		
		DW				\$ 10,813.95
			National - National IPA #30000411			3 .5,5,5,5
	880					
4	.4					
		1				
*	4					
		411		1		1
	16					1
44	/4					
0		1				1
		1				
	1.6					
*	,6					
*						

FORM 1295

		T	OFFICE USE	ONLY			
	Complete Nos. 1 - 4 and 6 if there are interested parties. Complete Nos. 1, 2, 3, 5, and 6 if there are no interested parties.	C	CERTIFICATION OF FILING				
1	Name of business entity filing form, and the city, state and country of the business entity's place of business.	e <b>Ce</b> 20	Certificate Number: 2017-163180				
	Global Industries, Inc.	l	to Filed:				
	Marlton, NJ United States		te Filed: /07/2017				
2	Name of governmental entity or state agency that is a party to the contract for which the form is being filed.	, ,					
	Fort Bend County, ID #21223	Da	Date Acknowledged:				
3	Provide the identification number used by the governmental entity or state agency to track or id description of the services, goods, or other property to be provided under the contract.	lentify the	contract, and pro	vide a			
	VQ10295						
	Furniture						
_	City Chata Country Inless of	hucinoss	1	of interest pplicable)			
4	Name of Interested Party City, State, Country (place of	Dusiness	Controlling	Intermediary			
_							
L							
-							
L							
H							
L				-			
H							
-	5 Check only if there is NO Interested Party.						
t	6 AFFIDAVIT I swear, or affirm, under penalty of perjury, t	that the ab	ove disclosure is tru	ue and correct.			
	KATIE A LEYENAAR	/ //					
	NOTARY PUBLIC	1	7				
-	STATE OF NEW JERSEY						
	ID # 50005528  MY COMMISSION EXPIRES NOV. 12, 2019  Signature of authorized agent	t of contra	cting business entity	′			
	AFFIX NOTARY STAMP / SEAL ABOVE						
١			oth -				
	Sworn to and subscribed before me, by the said	the	day of F	ebnary.			
	Hah Seyman Katie Levenaar Notary Public Signature of officer administering oath  Printed name of officer administering oath  Title of officer administering oath						

FORM 1295

_							
	Complete Nos. 1 - 4 and 6 if there are interested parties.  Complete Nos. 1, 2, 3, 5, and 6 if there are no interested parties.	-	OFFICE USE ONLY CERTIFICATION OF FILING				
1	Name of business entity filing form, and the city, state and cour of business.	ntry of the business entity's place	Certificate Number: 2017-163180				
	Global Industries, Inc.						
	Marlton, NJ United States			Filed:			
2	Name of governmental entity or state agency that is a party to t being filed.	he contract for which the form is	02/07/2017				
	Fort Bend County, ID #21223			Acknowledged:			
			03/22/2017				
3	Provide the identification number used by the governmental en description of the services, goods, or other property to be provided to the services.	tity or state agency to track or identify ided under the contract.	the co	ontract, and prov	ride a		
	VQ10295 Furniture						
4	<del></del>	<u> </u>		Nature of			
٠	Name of Interested Party	City, State, Country (place of busin	ess)	(check ap			
	<del></del>	1		Controlling	Intermediary		
					-		
		<u> </u>					
	· · · · · · · · · · · · · · · · · · ·						
	<del></del>						
	<del></del>						
	· · .	<del>-  </del>	$\dashv$				
5	Check only if there is NO Interested Party.	1 ,,,		L			
6	AFFIDAVIT I swear, or	r affirm, under penalty of perjury, that the	above	disclosure is true	and correct.		
		Signature of authorized agent of con	tracting	) business entity			
	AFFIX NOTARY STAMP / SEAL ABOVE						
	Sworn to and subscribed before me, by the said	, this the		day of			
	20, to certify which, witness my hand and seal of office.		_ <b>_</b>				
					ļ		
	Signature of officer administering oath Printed name of	f officer administering oath T	itle of c	officer administeri	ng oath		
					í		

FORM 1295

	Complete Nos. 1 - 4 and 6 if there are interested parties.  Complete Nos. 1, 2, 3, 5, and 6 if there are no interested parties.		OFFICE USE ONLY CERTIFICATION OF FILING				
1	Name of business entity filing form, and the city, state and country of the business en of business.	tity's place	r's place Certificate Number: 2017-155502				
	National Office Furniture, Inc.		2011-139305				
2	Jasper, IN United States  Name of governmental entity or state agency that is a party to the contract for which t			Filed: 8/2017			
2	being filed.	10111113					
	Fort Bend County		Date	Acknowledged:			
3	Provide the identification number used by the governmental entity or state agency to description of the services, goods, or other property to be provided under the contract	track or identify t.	the co	ontract, and prov	ride a		
	20642 Justice Center Furniture						
4		(-lana - 1 )		Nature of			
	Name of Interested Party City, State, Country	(place of busine	ess)	(check ap	Intermediary		
				Jones July	c.mediary		
_							
					MUHAN		
5	Check only if there is NO Interested Party.						
6	ANGELA R. TROXLER I swear, or affirm, under penalty of	perjury, that the	above	disclosure is true	and correct.		
	Dubois County  ** Commission # 624887  Commission Expires	2	6		Tarle		
	Signature of authorized agent of contracting business entity						
	AFFIX NOTARY STAMP / SEAL ABOVE		10.	HI T	-		
	Sworn to and subscribed before me, by the said	, this the	10	day of	inuary.		
	augie Propler Angie Troxler	Sa	les S	Support War	lager		
	Signature of officer administering oath Printed name of officer administering oa	th Tit	tle of o	officer administeri	ng oath		

FORM **1295** 

	Complete Nos. 1 - 4 and 6 if there are interested parties. Complete Nos. 1, 2, 3, 5, and 6 if there are no interested parties.	OFFICE USE ONLY CERTIFICATION OF FILING						
1	Name of business entity filing form, and the city, state and coun of business.	ntry of the business entity's place	Certificate Number: 2017-155502					
	National Office Furniture, Inc.		2017 20002					
	Jasper, IN United States	Date	Filed:					
2	Name of governmental entity or state agency that is a party to the	he contract for which the form is	01/18/2017					
•	being filed.							
	Fort Bend County		Date Acknowledged: 02/28/2017					
3	Provide the identification number used by the governmental ent description of the services, goods, or other property to be provi	tity or state agency to track or identify ided under the contract.	the co	ontract, and prov	ride a			
	20642							
	Justice Center Furniture							
			_					
4		and the second second	\	Nature of				
	Name of Interested Party	City, State, Country (place of busin	iess	(check ap	Intermediary			
				Controlling	intermediary			
			-					
					····			
_								
5	Check only if there is NO Interested Party.	·						
6	AFFIDAVIT I swear, or	r affirm, under penalty of perjury, that the	e above	e disclosure is true	e and correct.			
		a husiness entity	<del> </del>					
		Signature of authorized agent of cor		5 - ac co critic				
	AFFIX NOTARY STAMP / SEAL ABOVE							
	Sworn to and subscribed before me, by the said	, this the		day of				
	20, to certify which, witness my hand and seal of office.							
	Signature of officer administering oath Printed name of	f officer administering oath	Title of	officer administer	ng oath			
	Signature of ontol duffinistering date.	The state of the s	01		J			